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2 ME&EBLD FITITL S (EHLD

BlenesrefledQsmerer Caucvoriqwiene

> A 21er B sener st eOUmEEm | > 2 L smiy :
A x B ={(a, b) Sewensg acb beB} erer e &y f: A — B Speoig o 1 gy erefied B ed
6UEDTWIM)IESE0ITLD. GSOMHBHLLED @ 2 mnihaeneug A ed pedT 25
> A uieblapingl B ssneor 2_mey R Sheorg A X B ufieor B HEENG.

2 L se0uTon@LD. Sipmeug R © Ax B. > eLevfigaiy fx) ='x
> Xulehlppal Y samer 2 mey f 6d geuaeundy xeX N —— f(x) = 1
B @CT b yeY 2 6001 eTevfled Slems &L x
eTeTSGDNLD. > Lomufleblgemiyy f(x)=c
> QETMISE QETHTET &L : > Crrflwssmiy f(x)=ax+b az0
f: A — B eettugl e &y ereors. A ulledr > @mLLssiy f(x) =ax?>+bx+c, a%0
AeusiGeumeT 2_niliysener B ede_eer > puupssiy sergemy f(x) = ax> + bx? +cx+d,
2 _milysenLe { Shenrgl OSMLLLIGSSILDmeoTmed, f a#0
TG QETMIGS EMITL Sh@LD. » A, B iopmib C Spdwiemen epedim  eeummiledeor
> LeosuDiIiD(E ETHITET FMirL : sevorhiser, f : A — B, g: B — C Spfuwiemen Sevoi®

gmiy : A > B & ueoahnide @etmrer sy gmiyser ereofied gof : A — C  eteorp f HmID g

aefied, SgEmid A uler @emie. GbpuLL | e Gailenu go [f(x)], = g f(x) Sewatsg xe
2_niysensd. B 6 Gy BLped 2 H&meHE&LD
> Gueosmiy :

A 61601 6U6EDIUIMISBESEOMLD.
> f g Spwemen gCoemild &b &nyseT  eTevfled

f: A — B etetip @b &y Goedaiiy erevfied f udedr aungieurs fog # gof

> f, g omib h g@senid cpedTm) &MTLGET 6T6vfl6d
fo(goh) = (fog)oh

eliggneorg { 61 Flewevor DEILBESEDS &LOLONES

8masL. Sisneugl f (A)=B.

uuips 1.1
1. JSereumeusauniinG A x B, A x A wpmid B x A @6 srewrs.
i)y A={2,-2,3}wompdb B={1, -4}ii)A=B={p,q} iii))A={mn};B=¢
Sirey
i) A={2,-2, 3} womw B = {1, -4}
AxB ={2,-2,3} x{1,-4}
=12 1), (2, -4), (-2,1), (-2, -4), 3, 1), 3, -4)}
AxA ={2,-2,3} x{2,-2,3}
=1(2,2),(2,-2),(2,3),(-2,2), (-2, -2), (-2,3), 3,2), (3, -2), (3, 3)}
BxA ={1,-4} x{2,-2,3}
=11, 2), (1, -2), (1, 3), (-4, 2), (-4, -2), (-4, 3)}
- O ', g - 1 )
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QeonrGwmeom EC - 10 scooflgio
ii) A=B = {p, q} S0y :
AxB = , , IS e
_{pq}{pq} i B_Bx A
={ p) (P, 9, @ p) (@ P} . . ‘
goeurenfied A LopmiLd B ereotm
AxA ={pq}*{p q} . L
( 56001 RIS 6rfl60T &guqaaen &LDLD.

{
{

BxA ﬂpﬁxm&}
{

iii) A = {m, n}; B =(1) &ML :
AxB={} AxB = ¢ erevfled
AxA  ={m,n}x{m, n} A = ¢ Slebevg B= 0
= {(m, m), (m, n), (n, m), (n, n)}
BxA ={

2. A=1{1,2 3} womb B = {x|x ereorug) 10-g3 e9l& Adlw usr erevor}.erefled, A x B wpms B x A
S AwaDenns STevors.
Stey A={1,2,3},B= {2,3,5, 7} eretn&

AxB={(1,2),(13), (L5, (L7),(22),(23),(253),.27),52)673)65) 67

BxA={23,57}%x{1,2,3}

(2,

=12 1), (22),(23),61) 62,633/ D052),063), 71 72),73)}

3. BxA={(-23)(-24)(0,3)(0,4) (3, 3) (3,4)}ererflev, A wipmid B sy flweunenms srevrs.
Siey:
= {B x A e 2_6lten X Oi§&HS SNUMHISH6MET SH600TLD}
~B={(-2,0,3)}
A = {B x A eb 2 eten y OI5&s SHMIMIS6M6IT H600TLD}

~A= 3,4}

4. A={56}, B={456), C={56 7 aefleo, AxA=(BxB)n (Cx C) srenss &1_{H5.
Siey:
LHS =Ax A

= {5, 6} x {5, 6
AxA={(55)(5,6) 6 5) (6 6) 0

RHS =(BxB)~(CxC)
BxB=1{4,5,6}x{4,5,6}

={(4,4) 4,5 (4,6) (5, 4) (5,5) (5 6) (6,4) (6, 5) (6, 6)}
CxC =1{567 {567

( @10 - 1 | B =%
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=155 (5,6 (5,7)
(B B) (CxC) =
o
AxA

(6,5) (6,6) (6,7) (7,5) (7, 6) (7, 7)}
{(5,5) (5, 6) (6,5) (6, 6)}———©@
(2

)
(BxB)~ (CxC)

5. A={1,2,3), B= {2,3,5 C={3, 4} wpm D = {1, 3, 5} ererflé> (A N C) x (B n D)
= (A x B) N (C x D) stesrigy 2_essremiowm eteer Cardlssao.

Siey :

LH.S (AnC)x (BND)
AnC={1,2,3}n{3 4}
{3}

BnD

{2,3,5}n{1, 3, 5}

{3, 5}
x (BN D)= {3} x {3, 5}

=133 G, 9)} o
RHS (A xB)n(CxD)
AxB=1{1,2, 3} x{2, 3,5}
=112 1 3)(15)(22)(273)(25)(32)3.3) 3 )
CxD={(3, 4} *{(1,3,5)
={B1DEIGSE)E3)E5)
(AxB) (CxD)={(33) 35} o
1) =@

(ANC)x (BN D) =(AxB)n(CND,) eretrugl 2_evoremLp

(AnC)

)
)

6. A ={xew|x<2}, B={xe N|1<x<4} wpmb c = {3, 5} aefler £Cps Qar@EELILL HisTer
swearurHsemers sl LTTés.
i)y Ax(BUC) =(AxB)U A xC)

ii) Ax BNC) =(AxB)n(AxCQC)
iii) (AUB) x C= (A x C)U (B x C)
Siay: A={0,1 B={2,3,4) C={3,5)
i)y LHS=AxBuUCQ)
BuC= {2,3,4}U{3,5)
= {2,3,4,5}
Ax((BuUCQC)={0,1} x{2,3,4,5)
={(0,2) (0,3) (0,4) (0,5) (1,2) (1, 3) (1, 4) (1, 5)} ————©@
RHS = (A x B) U (A x Q)

- 7 ', NG - 1 ’
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AxB={0,1} x {2, 3,4}

=1{(0,2) (0,3) (0,4) (1, 2) (1, 3) (1, 4)}
AxC={0,1} x {3, 5}

=1{(0,3), (0,5) (1,3) (1,5) }
(AxB)U(AxC)= {(0,2)(0,3) (0,4) (0,5) (1,2 (1,3) (1, 4) (1, 5)}——@
~LHS=RH.S

ii) Ax(BNnC)=(AxB) n (AxC)
LHS=Ax(B n C)
Bn C={23,4} n{3,5}
={3}
Ax (B nC)={0,1} x {3}
={0,3) (1, 3) } o
RHS=(AxB) n (AxC)
AxB ={0,1} x{2,3,4}
=1{(0,2) (0,3) (0,4) (1, 2) (1, 3) (1, 4)}
AxC ={0,1} x {3, 5}
={(0,3) (0,5) (1, 3) (1, 5)}
(AxB)n(AxC)={(0,3)(1,3)} e
~LHS=RHS

iii) (AUB) x C=(A x C)u (B xC)
LHS=(Au B)xC
Au B={0,1}u {2, 3,4}
={0,1, 2, 3,4}
(AUB) x C=1{0,1,2, 3,4} x {3, 5}
= {(0:3).0,5) (1,3) (1,5) (2,3) (2,5) (3,3) (3,5) (4,3) (4, 5)}
RHS=AxC)u (BxC)
(AxC)=10,1) x (3,5))
={(0,3) (0,5) (1, 3) (1, 5)}
BxC= {2,3,4} x {3, 5}
={(2.3) (2.5) (3,3) (3,5) (4,3) (4, 5)}
(AxC)uU(BxC)={0,3)(0,5)(1,3) (15 (23)(25) (3 3) (35) 43) 4 5}— ©
~LHS=RHS

( @10 - 1 | 8 %
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7. A eterug) 8 - @ el& Gewpeuner Qe erewrsefler sewrd, B ererug 8- el& Gewmeuresr
usr erewrsefler sewrd wHm C erarug PriewLuen. usT aewseaflar sewrd erefle,

SipsaeiTLaupennd Fflumiés.
i) (ANB)xC=(AxC)n (B x C) CEFEHY ii) A x (B-C)=(AxB)- (AxCQ)
Siey :
seoredenn L A ={1,2,3,4,5,6,7) B=1{23,5,7) C={2)
i) LHS=(ANB)xC
ANnB={1,2,3,4,567n{23,5,7)
=1{2,3,5,7)
(ANB)xC=1{2,3,5,7} x {2}
=122 (3,2 (5,2 (7, 2) o
RHS =(AxC)n(BxCQC)
AxC=1{1,2,3,4,56,7) x {2}

={1,2)(22)(3,2) (4,2) (5 2) (6,2) (7, 2)}
BxC={23,5,7} x {2}
=22 (3,2 (5,2 (7, 2)}
AxCO)nNnBxC ={22)3,2)((5,2) (7, 2) (2]
- LHS=RHS
ii) LHS=Ax(B-C)
B-C={23,5,7}-{2}
={3,5,7}
AxB-C)={1,2,3,4,56,7} x{3,5 7}
(L3 (1,3 (LD R3)R5ERTEIES)ET)E3) G5 E7)
5,3) (5:3)6,7) (6,3) (6,5) (6,7) (7,3) (7,5) (7,7) }— ®
R.H.S = (A x B) - (A *xC)
(AxB)=1{1,2,3,4,5,6,7} x{2,3,5,7}
= (12 (13)(15) (17) 2.2 2,3) 2.5) 2,7) (3.2) 3,3 (3.5) 4,7) (4:2) (4, 3) (4,5)
47 (5,2 (6 3656762636567 0273
(7,5) (7,7)}
AxC=1{1,2,3,4,56,7} x{2}
={(1.2)(22) (3,2 (425262 (7 2)}
(AxC)
{1,315 (1L7)(23 2527063 G6G5EG7 43 45 &7
(5.3)(5,5)(5,7) (6,3)(6,5)(6,7) (7,3) (7.5 (7, )}———— @
L.H.S=R.H.S (1 womibd 2 edabbs)

(A % B)

% 9 ', NG - 1 ’
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Luflpd 1.2

1.

= {11 2,3, 7} '-°ﬂ.>91“3 B = {31 0,-1,7 }
cTesflev Leraubeucraupidled erenau A-eSlHHaI
B sarew 2_mejserm@wn?

x=2eevfledy =2+3=5
x=3;erevfledy =3+3 =6
x=4, eaefeoy=4+3=7

DR =12 1), (7 1) x=5 eeofleoy=5+3=8
i) Ry={(-1, 1) | ey
e i 1012943
iv) Ry =1(7,-1), (0, 3), 3,3), (0, 7)} . — ,
. QarT(HESUIUL L 2 DaseT eelbleurarennu|Ld
Siey : (1) SidySE@GM uLd (2) euedyLLLD
A ={1,2,3,7} B={3,0,-1,7} (3) uLligwed apempuiled S
AxB =112, 3 7} x{3,0,-1,7) i) {(xy) Ix=2y,x 23,45} y € {1,2,3,4)
AxB ={(1,3)(1,0)(1,-1)(1,7)(2,3) (2,0) ii) {(x,y) | y=x+3, X,y Qpflwenas Swed
(2,-1)(2,7) (3,3) (3,0) 3,-1) 3, 7) erevraser < 10}
(7,3) (7,0) (7, -1) (7, 7)} Siey :
i) 8% (2, 1) wompw (7, 1) € A x B i)x=2y:>y=£ x=23,45
a6y 26y Sedemev. 2
ii) g;sfeﬁ_l’ 1) € A x B ereti@eu 2 ey x=2;6rsoﬂ6i)y=§=1 2 1)
iii) Ry € A x B ere01Geu 851 @b 2_mey ShGLD. .3 3
iv) 8mGs (0,3), (0,7) # A x B aantGeu 2_pey 3 eeiedy =7 57
8evemen 4
x=4;6r60ﬂ6i)y=3=2 4, 2)
2. =11, 2, 3,4, .ceenee , 45} wpmid R ereimm
2.me| “A- Wer 18y e aTerenflar aui&aswn” _ 5 5
eTer euemTwmSSILL L Ted R-3 A-x A<ufler X =5; ereofled y =5 (S, 7)
2 U sewrons  61(pGls. Cuedid R-ssmer | . . .
LSILSSHSUILD gisgmgu.% STEWTS. i) Sub5S |.||_X|.n R Y
Sirey : Qe1-2021
12=1;, 22=4; 32=9; 42=16
52=25; 62=36 72=49 545
R={(1,1)(2,4) (3,9) (4,16) (5, 25) (6, 36)}
ReAxA
R et wduusb={1, 2, 3, 4, 5, 6}
R e efissmb = {1, 4, 9, 16, 25, 36} ii) ewemguLId
3. R e @® 2pey {(x, y) /y = x + 3, X
x €{0,1,2,3,4,5} ereurs QarssLnL_(herens. 54
Bser wIlLsgSmsD eidssSmPWLD 5mr|_¢)]5 41
Sirey : 3+
speyy=x+3 x=0,1,2,3,4,5 2T 06(4,2)
x=0; aaiéy=0+3=3 L A
x=1; eevfeoy=1+3=4 Ol 1 2345
( @10 - 1 | B
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iii) uliqweo pewm

ii)

{2 1), 4 2)}
{(x )y

= x+3, xy ereueneu Puwiev
erevrser < 10}
x={1,2,3,4,5,6,7,8,9}
y=11,23,4,56,7,8,9}
sevuTeH60T LI y = X + 3
x=1,cevfleoy=1+3=4
x=2,aeofledy=2+3=5
x=3;etevfllby =3 +3 =6
x=4; aefleoy =4+3=7
x=05; erevfleo y =5+3 =8
x=6;cefledoy=6+3=9

i) SubysSGM ULILD

O 0 NN N s WD

1
2
3
4
5
6
7
8
9

Y ®(6,9)
9+ ©(5,8)
A(4,7)
6L ®(,6)

51 ®@2,5)
il O@9

iii) vtwed Wenm

{(1,4) (2,5 (3,6) (4,7) (5 8) (6,9))

5. em BimjeucrsSled 2_gellwmeriser
(A) egpsziser (C), Cuweomeriser (M)
woms  Bieundlser (E) oflw  mremg
Wfleysefleo vewflureriser 2 emeresri. A,
C M wpmpw E Ofle vesflurerisenss
earflumiser (weopGu I 10,000, I 25,000,
X 50,000 wpmd I 1,00,000 sys. A, A,
Ay A, v A o fCwmit 2 gelwreriser
C,, Gy, G5, Cy o ACwm erepSsiismer M, M,,
M; g flCumiger Gueomeriger womd E;, E,
2, FCwit Hlireurlaer oyeurr. xRy erewrm 2_melled
X TS| Y 6TaTLIQI(HHEGS  ClamHiSsiuL L
earflud erefled R - eteorp 2 mewe, euflenss
GemeseT epeodTHD  WBLSSMH LD
epeorsa)w GHLAHs.

Siey :
aflengs Gemgsafler sewrid :

{(10000, A;) (10000, A,) (10000, As)
(10000, A,) (10000, A) (25000, C,)

(25000, C,) (25000, C5) (25000, C,)
(
(

(
50000, M,) (50000, M,) (50000, M)
100000, E;) (100000, E,)}
SILSEGMH LD
X

R Y

11 ', Newd -1 )
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QeonrGwmeom EC - 10 scooflgio
viHA 1.3 ii) x = 2a ereflev
— f(2a) = (2a)2 - 5(2a) + 6
1. f={(xy) |xyeNuopowy =2x}gers =4a2-10a + 6

N-eor 1Sgner i 2.me| eaers. wHILSLW,
glenewt  LHULSL LONY SFFHSMBSH
srews. Qb 2 M| FTTLMEGLT?

iii) x =2 erenfled
f(2) = (2)2-5(2) + 6 = 4-10+6

Siey : =0
x,yeN iv) x =x-1 ereflev
x=1{123 ...} f(x-1) = (x-1)2 - 5(x-1) + 6
y=1{123..} =x2"2x+1-5x+5+6
seooTeSeTLIR Y = 2X =x2-7x+12
x =1 ereofied y = 2x1 = 2 4. wLb 1.16 e QarHSsLuLL euemruLtd f(x)
x=2eevfled y =2x2 =4 ufletr epevons £(9) = 2 ererrigy) Cgefleurflmg.
x =3 etevfled y = 2xX3 =6 N
: : 10
~R=1{1,2), (24), (3,6), ....... } 9 \
wduusd = {1,2,3, . } 8 I\
glemevor LBLsLD = {1,2,3,4....ccocveneee. } 7 N
Fmusd = {2,4,6, ccceeeeneee. } 6 N
55 ooy v TTRE
2. X =1{3,4, 6, 8 etews. R ={(x, f(x)} xe X, 4 N
f(x) = x% + 1} ererm 2_peuneng X- SwmHSI 3 \
N &® @ sriur@Lr? 2
Siey : 1 \
syey f(x) = x2+1 8®Gs x = {3, 4,6, 8) >
f(36;4=(3%+1=9+1 10 ‘) > 1234567 80910
f4)=42+1=16+1=17 ; o weslle o
£(6) = 2+1=36+1=37 ’ i) LfedTeuBLD FMTL 66T LDBLIL|EBEmENE SHT6TTE.
f8)=82+1=64+1=65\ | 6 @O0 @0 ®fO @10
B8l Qb 5T ShELd 8 ii) x-&etr ebLBLIIDG f(X) = 1Sp8 SHESLD?

iii)urb 116 ufed (1) wdlusb (2) elisssd

SNIevoTLD : X6D 2466 QEUGeUTH 2 MLIHELD
&ME00TS.

N eb @G e@dp 2-nILIL|L 60T OSMLITL|6TETE.

iv) f eredrm &mLded 6 -6T BLDED ©_(F 6T60TeoT?
3. Qar@&suu L eriyf:x — x2-5x + 6, eresflé0 ) D BLp ®

O 6D G) 1) @) KD @) FD | B oo wree
Sfuapamp wIIIES. (©f(2)=6 (d) f (10) =0
Sirey : i) f(x) =1 erevfied x 667 LBty 9.5

_2.
f(x) =x"-5x+6 iii) s = (0,1, 2, 3, 4,5, 6,7, 8, 9, 10}

) x =l el sfésap  ={0,1,2,3,4,5,6,7,8,09)
f(-1) = (-1)> - 5(-1) + 6 iv)6:;;wdm T
=1+5+6 p )
=12
( NS - 1 | 12 ok

Kindly send me your study materials to padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net

QeurCGwmeor

www.CBSEtips.in

EC - 10 scoofigid

f(x) = 2x + 5 etevrs. x = 0 ereeflev,
f(x+2) - £(2)
X

Sey :
soey f(x)=2x+5
f(x+2)=2(x+2) +5

S SIS

=2x+4+5
=2x+9
f(2)=2(2)+5
=4+5=9
f(x+2)—f(2)_2x+9—9_2_x_2
X X X

owm &miy f serg f(x) = 2x - 3 erewr

QUTWMISHSLILIL_L_T6L

i) £(0)+£(1)
2

ii) f(x) = O erevfied, x -e2& &HmevOTS.

iii) f(x) = x erevfled, X -e2& SHTevOTS.

iv) f(x) = f(1-x) erevfied, x -e2& &mevoTs.

25 HM600TH

24 Q1S uSs SeTeyeTeT FHIT AlgaIS
giwmgellphbsl  BrTE  epemevsafigd
g0 eTajeTer  FZITEIGmET  OleuLigLi b
1.17 &0 2_simemeumm) GuosoLimid b b ClLL1g.
QawwiLh$ng). Qs QL quilesr seroeTeay
Verefleo, V g3 x -wlewr amiunss @HLSHs.

24 - 2x

x 24-2 x x
Shey :
emb, =24 - 2x
Siseolb =24 - 2x
o wmb=x [ (a-b)?=a%-2ab +b?|
eiLiguiletr seor Slemey =1 X b x h
=(24-2x) x (24 - 2x) x x
= (24 - 2x)2 x x

g6y f(x) = 2x - 3 etefled = (576 - 96x + 4x2) x x
£(0)=2(0)-3=0-3=-3 = 576x - 96x2 + 4x°
f(1)=2(1)-3=2-3=-1 = 453 - 96x% + 576 x

. fO)+f(1) 3-1 -4 f eterp emiy f(x) = 3 - 2x erew

i) T T T3 T asrumssLLGEHDS. f(2) = (f(x)? aefld

ii) spey f(x) = 0 erevfled xgs Srews.

2x-3=0 Sitey :
oy =3 _E f(x) = 3 - 2x erevfled
D) f(x2) =3 - 222
iii) sey f(x) = x erevfled [f(x)]%2 = (3 - 2x)?
2x-3=x o 5 5
2x-x=3=2@-1)x=3 seooreseBen L £(x<) = [£(x)] 36
x=3 3-2x2=(3 - 2x)2 51 6

iv) spey £(x) = £(1-2) erofie 3-22=9-12x+4? "o ey
2x - 3=2(1-x) -3 =3-2x2-9+ 12x-4x? =0
2x-3=2-2x-3 ~6x2+12x-6=0
2x-3=-1-2x (+-6)=>x2-2x+1=0
2x+2x=-1+3 Squaring on both side

4x=2:>x=z=l :(X—1)2=0
4 2 —x-1=0
Lx=1

* ', NG - 1 )
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9. @® eflwrens 500 £.5 / wenll Cassleo iv) 2uwimb 53.3 SIEIGeLD eTelied eLIaTTaRReDT
upsflpg.  eflwrend  ‘d’ Czreneey WPeTTRIE&SUTET BerD 32 aF.u5
QFevausDE G HTeGmS t (ewflullen)-eor 53.3=0.9x+ 245
gmiurg CeuefliL(Sss. Sx=32
Sitey Lufipd 1.4
Geustd = 500 &.15 / Loevofi 1. &Cp Qar(M&sIUL L aIETLLESET FrienLs
&neold = t GryLd ereors GfsHarpereur  eterg  Shwoneflssaw.
gmd = Geusid * GryLd allenL_&em&ameur STTETSHMS\L|LD
=500 xt =500t .,
- - - - Qar(Hi&seaLb.
10. oimHled> 2 6T I Luenewruled BT Y
puisefler werarEienssefler Berwd wHMID Y
SaisepemLw 2 wrEsafllear  Fsaeoser K
aprEisLLL(Heterer. SiBF eleurmisefler X \\o S X 0 X
SlgliuemLulled e rewreud, 2wy (y)
OHMID (PererEens Berd (Y)-S&rer 2 penal i) J i) N
y = ax + b etenrs sewr@ilyssnt. Qi@ a
opmitb b eyfuenes wrflsdiser. H X
1) @b 2 _DeuneTgl FNTLINGLDT 6T60T ShIMLIS. i
ii) a womub b - & snevors. X S x X 5 X
iii) pedrevrriemaufeor Hemd 40 61&.L5 erevfied. -
Sl HUIMET 2_WITHEmSHES SHT600TE.
. . ) . . . . iii) Y iv) Y
iv) 2 wplb 53.3 SirIGeLD erevfled, Sibg mHurfleor
(PeOTEOTRIENSWIET [BeNSemsd STevoTs: Sey
(peerEIenssefler 2wy Y
Bemd (Ql&.15) X (mIGew) Y &5HEIGCHTLTETE
35 56 ﬁ U LIL 60
45 65 X X & yeefaeried
50 69.5 \‘ﬁ QUL BBEMGI. ereorGe
55 74 8| &L Sledev.
Siey : Y
;&,r_r)sq y = 0.9x.+ 24.5 &h@Lbd Siey
i) 8z eo &y
ii) y =ax + b 2_Ler @UuiGemauied X
a=09,b=245 GHBHGCHILIES)
iif) (l,pafre.urréja)?asu_ﬂair ' eI 4(? aa=.‘u5' erailﬂei) X' X UDILLES @B Qb
) glsafrzsgﬂirr z.iu;gw 60.5 SIRIG60LD Sh&LD. Lerefiufed Qleur GBS,
y 36494 5 ] ereorGeu &gl QB SLY.
=60.5 Y
oes -1 | 14 =5
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GleonCGwmeom
ity : i) euflenssd Gamqsefler sevwrid
Y £={(2,0) (4 1) (6,2) (10,4) (12, 5))
> &55I&ECHMLME0TE ii) S eusnemr
EUEMILILSH6M5
X X 8wm yerafisertied x [2]4]6]10] 12
L e GEns 88 @ fly |01 |21 4 5
&Y Slede.
Y iii) él'bl-lé@[_m LIL_LD
. A f B
Sirey
Y
&5H&I6CHTLTETE
X X SUIULSmS @CT Q6

eeriufed el6uLBSEDSI.

/

eTe0TCeu & b FITL

Y

2.

f: A —B eteorp emiurerg f(x) = % -1, etewr
auemrunssLuhEng. @G A = {2, 4, 6, 10,
12} B=1{0,1,2,4,5, 9} o5 @méEw Curz
gniiy f-g3 Nereumd emmaafled Fl&s.

() euflenss Camqsefler sevord

(ii) L Leuenevor

(iii) SOYSHGSM LLLD

(iv) suempuL1d | GMO | aiiyed 2023 |
Siey :
f(x) = 51 raoted
2
fQ)==-1=151=0
2
4
fd)== -1=2-1=1
2
6
f)== -1=3-1=2
2
10

f(10)= > -1=5-1=4

f(12)=%—1=6—1=5

Y
6__
(12,5)
5+ o)
4 10, 4
4 ( )G)
3__
, L (6,2)
4,1)
1T 20 ©
1 a 1 1 1 1 1 1 1 1 1
T N T T T T T T T T T T
O1 2 34 5 6 7 89101112

f=1@1 2), 2, 2), 3, 2), & 3), 5 4)} ererp
grmiener

i) SYSGM LLLb

ii) S Lauenevr

iii) euenTULID eevOTSHS GDHISSHOLD.

%= 15

', NG - 1 ’
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GeomrCGwmeom
Siey : 5. f:N —N eem smiy f(m) = m? + m + 3
i) oubysEM ULLb T QUMIUMISHILLLITOD IiF| RTMISHS
A f B QETMTEU FITL| eTewrs: STL_(HS.
Siey :
N={123, .... }
k f(m) =m2+m +3
| —F f1)=12+1+3=5
‘ f2)=22+2+3=9
‘ f(3)=32+3+3=15
~£={1,5), (2,9), (3,15) .....}
- f epeora 1 - 1 &y SL@LD.
i) oI Leuenewer 6. A = {1, 2 3, 4} wpmip' B = N eens.
x |12 ]3| 4 5 Cueud f : A —B gyerg f(x) = x> eten
fl2l21213 4 auemrunssLuBhEng) ereafle,
- i) f-uletr elidEasemBE HNETUS.
iii) euewyLILLD . . ) . .
v ii) f erelleuEmE FTTL| 6TEOTE BHTETOTS.
Sy
5T I f(x) = x3 erevfied
G f(1)y=1°=1
41 = © f2)=23=8
= f(3) =33 =27
3T 3 8 a®f £(4) = 4% = 64
L & 6 o i) efigemd = {1, 8, 27, 64}
ii) QETMIBE EEOTMEDT LDHMILD 2L &L
LT I o | X 7. &Gp Oemh&siulL  @adar®m sTiLw
0 1 2 3 4 .5 @myme  emiumr,  Qedeweowmr? - 2 6w
llenL_SSTaT SITERTSMSS Fnm)s.
4. f: N —N eteorp &miy f(x) = 2x - 1 erewr ) ~
QUHTLMISSLILILLTE) S| QRETMISHE) 66TTDHT6s ) £:R— R epemgi f(x) = 2x +1
Speormed Guoev i Geveneo 6Tewrs: ST (His. ii) f: R — R &pevrgi f(x) =3 - 4x?
Siey : Siey :
f(x) =2x -1 i) f(x)=2(x) +1
f(1)=2(1)-1=2-1=1 f0)=2x0+1=1
f2)=2(2)-1=4-1=3 f1)=2x1+1=3
f3)=2B)-1=6-1=5 f(2)=2x2+1=5
f4)=2x4-1=8-1=7 f3)=2x3+1=7
: eeu6IGauITeT 2 pIiIL&eT eeueIBauDITET
glemevor Lushd = {1,2, 3,4, ........... } - 1) 2 (BAURIGEDENTES \BTETTBEITETE.
eligsHLD = {1, 3,5, s } -------- (2) L85 1 -1 amy
1) =2 Gwgyd n (A) = n (B) eresiugned &g @Loed &ty
.. eTeot@eu &gl 1 - 1 &miy Spevrmed GLbed &L SpGLD.
Sevemev. o (x) = 2x+] Gperg SGUDE FMITY SHSLD.
oes -1 | 16 =%
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=12 _ 42
ii) f(x)=3 4x2 1 if 3 <x <1
f(1)=3-4(1)=3-4=-1 15
f2)=3-4(2%)=3-4(4)=3-16=-13 ¢ o— N
f(3)=3-4(3%)=3-4(9)=3-36=-33 S22 et
f(4) =3 - 4(42) = 3-4 (16) =3 - 64 = -61 i) f{@)=x+2
f(-1)=3-4(-1)2=3-4(1)=3-4=-1 ) =3+2=5
&mie f(1) = f (-1) i) £(0) =2
Speormed 1 # -1 iii) f(-1.5) =x -1
s (X)) operg & Upé &ty Sledeo =-15-1
=-25
A = {-1, 1} womud B = {0, 2} ererrs: Coeyid, ,
f: A — B genrg f(x) = ax + b. erar iv) f_(2):2f(;2) 1
aumrunssiurL. Guoe eriy eeflo, a ; ; o X —2 )
m:ni)mjlbbgésarrsivra. —4-3 (-2)-
Sirey : =1
f(x)=ax+b
seorader L f(-1) =0 10. f:[-5, 9] — R ereorm emiunerg) Nereu@homm)
=a(-1)+b=0 aueTwnSsIUGHEDS).
o 6¥+1; 5 <x<2
Guogu f(1) = 2 S5 -1 2 sx <6
:ai1i+b=2 3x-4; 6 <x<9
a+b=2 sTer euenTwmISSILHEDG eTerfleo,
ath e Neai(heuaTainenns STevrs.
o+e . .
Catbtath=042 (i) f(-3) + £(2) ii) f(27f) —2f(1f) .
—~2b=2 iii) 2f(4) + £(8) vy 2H2)-fO)
b=1 f(4) +£(-2)
b et dlievw (2) 6 WgduiL Sire :
a=1 ox+1if x=1{>5,-4,-3,-2,-1,0,1}
e 2 1 —_
f ereirp smiLmensy f(x) 5x2 - 1if x =1{2,3,4, 5}
x+2;x>1 3x -4 ifx={6,7,8,9}
f(x) = 2 ;-1 <x <1 f(-3) =6x+1
x-15-8 <x <-1 =6(-3)+1=-18+1=-17
6TGOT GUEHIWMISSIULLTGD f2) = 5x22- 1
i) £3) i) £(0) - o
iii) f(-1.5) iv) £(2) +£(-2) =3(7)4=21-4=17
Sy Fweuner wHOILSmeTS SHTevTs. f(1) =6x+1
ey : =6(1)+1=7
g I f(4) =5x2-1
x+2 1.fx—{2,3,4,5 ...... } =5x42-1=5x16-1=80-1="79
f(x) = 2 if x={1,0,1} _
1 if x=10 f(8) = 3x-4
x-1 if x={2} =3(8)-4=24-4=20
o 17 | o0 -1
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GeomrGumeom
f(-2) = 6x +1 12. t eteorp eniurerg GFeoflwedled (C) 2_emer
=6(-2)+1=-12+1=-11 Qauflenevenwujd, urperadiiged  (F)
£(6) = 3x -4 2 eter  Qaiuflemeosmwujs  PenewTHEGLD

=3(6)-4=18-4=14
i) f(-3)+f(2)=-17+19=2
i) f(7)-f(1)=17-7=10
iif) 2f(4) + £(8) = 2 x 79 + 20

emiur@w. GCoew oH tH(C) = F erer

uenTwMISSILLL T, (@i F = % C+32)

(i) t(0)
iv) t(C) = 212 o5 @maEw Curg C - ar

(ii) t(28) (iii) t(~10)

=158 +2
s iy
. 26(2)-f(6) _2(11)-14 V) Qasmﬂum; m:ﬂlhl..ub ;rruscr‘gz; .m%ﬂqi
— = =T A SIOIOTS S Curm auliLiBlen
f@)+f2) 79+ (11) P . &
wWehenms SHewrL_is.
C 22-14 36 9 gﬁ"% e
79-11 68 17 e
sevorsdeor L t(C) =F
11. yefuSiy dllewsuflesr  sryewrors 9C
AT § Y I A St ——+32
ddermgseafld @m®w OurmeTr SL&EGW 5 ¢ 5
1
monesg S(t) = — gt? + at + b erews 0
o gl C g. i) t(0)= = +32 =32°F
Qar(hssuu (Retergl. EE a, b gpflwene 5
wrihleSlaer (g operg LeNuiiiy elensuliesr ii) t(28) = 9 x 28 + 32
sryewTons qpuBL WHEsW). S(t) perz 5
Q6T SH0ISETETHNET FTTLIMGLOM 6TET TS, = E +32
T ) = 50.4 + 32 = 82.4°F
s(t) = — gt* + at + b erevr®
H=38 iii) - 2C10) 4,
t=0eeofle0 S (0) =b 5
t=1 aeuﬂsbs(l)=%g><12+a><1+b :—T90+32
%=g+a+b = 18+32=24
S(t,) = S(t,) ereoned W) (C) =212
1 c=X i3 =212
t=2eeofled SQR) = — g22) +ax2+b 5
2 =180
. - S S 9C =180 x 5
2 =900
: ~.C=100°C
8nE t & @aean DS S(t) & waiy | V) Qeeflwev wHiyw umperadl  wHOLWD
GaumILIL BeTeTE. gwwrs PmeEw Curg Qe
2. S(t) @peorgi 1 - 1 &FMY SHSLD. C= E +32
5
( @10 - 1 | 18 5%
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9C _ X+6 —a_
C-30= = iii) f(x) = = gx)=3-x
5(C-32) = 9C fog(x)=1(g(x) =£(3-x)
5C-160 =9C _3-x+6 9—x
5C-9C =160 3 3
-4C =160 x4+
C = 40 g0 ()= 8(i0) = 3
uuiipd 1.5 , 6
1. 3(3595 an@s&uu;@msrr f wpmd g cr@u.o 3
gniysemerl UweruBSSH f o g wHmD
g o f- 25 anevwrs f 0 g = g o f ererugy sflwmr _9-x-6
Cardlés. .
i = x— = 12
) 97365 =x N fogagot
.. _ < _ 2 3
11) f(x) x’ g(X) 2x= -1 iV) f(x) =3+x; g(x) =x-4 m.-
X+6 fog(¥)=£(g) =flx-4)
i) () = 2=, g(x) =3 - LA
iv)f(x)=3+x gx)=x-4 = x-1
v) f(x)=4x% -1, g(x) =1 +x gof(x)=g(f(x)) =8B +x)
Shey : =3+x-4
i) f(x) = x-6, g(x) =22  [f(x)=x-6] =x-1

ety fog=gof

= = (12
fog)= ;(i(x)) ) V) f@)=4-1gr)=1+x
N fog ()= £(g)(x)) = £(1+x)
g&o f( ) ( ( )) g(x_6) = 4(1 + x)2 -1
e = 4(1+2x +x2) - 1
~fog=zgof =4+ 8x + 422 -1
. 2 =4x2+8x+3
i) f() =~ g() =221 Lot jg(;(x)’; . 21
f o g(x) = f(g(x)) S4@>1) RN
2 — 4x2
2x% =1
R (2 ereni@eu fog # gof
gotb9= g(i(x)z) - g(?j 2. fog = gof eresflev k- ullesr wHlienus srevrs.
= (—j -1 i) f(x)=3x+2,gx)=6x-k
x4 i) f(x) = 2x - k, g(x) = 4x + 5
=2 x—-1 ey :
g i) f(x)=3x+2 g(x) = 6x - k
i fog=gof (sum)
fogzgof fog(x)=gof(x)
f(g(x) = g(t(x))
% 19 | o0 -1 )
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QeomGwmeom
f(6x - k) = g(3x + 2) a?-1-2 =1
3(6x - k) +2 = 6(3x +2) -k a®-3 =1
18x -3k +2=18x + 12 - k a =4
2k =-10 a=4
k=-5 a =42
i) f(x) =2x-k, g(x) =4x +5 A, B, C c N womis f: A— B ereorp &miy
soey fog i gof f(x) = 2x + 1 erewreyid wHMIS g : B — C gyemrg)
ff(ogg)g; - gz)ff(%) g(.x) =x srssra!u‘a m.mu'l.l.l@ée.sﬂuu.ursb, fog
f(dx + 5) = g(2x-k) wpmibd gof- uller eféFasmzs srevrs.

2(4x+5) -k =4(2x - k) +5 Sirey :
8x +10 -k =8x -4k + 5 sy f(x) = 2x + 1 g(x) = x2
3k =-5 fog =fog(x)
_> = f(g(x))
k="3 = f(x2)
=2%2 +
3. f) = 2x L g = X1 aefe, cai O3 ;xo . (}C)
ng = gOf = X 6TOWT& G’all'lL@&. = g(f(X))
Sie : =g(2x +1)
fog(x) = =(2x+1)2
fo.gwhmib g o f e efiggsLd
( j {y/y=22+1,xeN};{y/y=(x+1)? xeN}
-z [“ j f(x) = x2-1 eredléd i) f o f ii) fofof - mé
—x+1-1= STCUTS;
gof=gof(x) ey :
= g(f(x)) soey f(x) = x* -1
=g(2x-1) a) fof(x)=f(f(x)
_2xA A = f(x? 1)
> =(x2-1)2-1
B 2x =x4 2x2+1-1
_ 2 = x* -2x2
ereoi@eu fog=gof=x b) fofof = fofof(x)
ereoTBeu BerpLisbasLILLLS. = fof(f(x))
4. f(x) =x2-1, g(x) = x-2 wHmb = fof(x? -1)
gof (a) = 1 erfled, a & sHnevors. = f(f(x2-1))
Sirey : = f[(x2 -1)2 -1]
i) f(x) =x*-1; g (1) = x-2 = flx4 222 + 1 -1]
506 gof(a) =1 = flx* -2x?] = (x* - 2x%)% -1
( (@) =1
gaz-1) =1
_oee-1_| 20 ok
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7. f:R—R wpms g:R - R syearg wpernGu, fo(goh)= fo(goh(x))
f(x) = x°, g(x)= x* eTewr cuemUMISSILL L eV, =1 (3;‘2 +1)
f,g pfluemna QaTMISHE QRETDHIATST WHMILD =3x"+1-1
f 0 g QETMI&EE QaTDIET FTILMEGLT 6TeTM) = 3x> 2]
LTS, 0, 8 OpHa
Sire : (fog)oh = fo(goh)
f(x) = £(y)
x> =y° i) f(x) = x2 g(x)=2x h(x) =x+4
Jemdey XY . fog(x) = f(g()= f(2x)
ShensILITed f 6H 60TMISHE 660TDTENT &L — o2
5() = g(y) st -2
x4 — y4 = 4x2
SHEDBILITED X # £y (fog)oh = (fog) oh(x)
eTe0TB6U I QEUTMIEE EEOTMMEDT &IITL| E6D6M6D — foolh
fog = fog(x) = fog(h(x)
= f(g(v)) = fog(x+4)
= f(x4) =4 (x+4)2
= (X4)5
= 320 = 4(x? +8x + 16)
fog(x) = fog(y) erevfied =4x2+32x+64———©@
S AT X2ty goh' = goh = (x) = g(h(x)
~.fog Gpeorgi 1 - 1 smiiy Spsngi. = g (x +4)
8. Qar@asuurf(x), g(x), h(x) gyflueapenns =2(x+4)=2x+8
Qaneor® (fog)oh = fo(goh) ererrs s (Hs. fo (goh)= fo (goh)(x)
i) f(x) =x-1, g(x) = 3x + 1 wpmub h(x) = x> = fo (2><+Sg
i) £(x) = x2 g(x) = 2x wHpub hF) =x L4 =(@2x+8)
S =4x2+32x + 64 ———— @
iii) f(x) = x-4, g(x) = x* womid h(x) = 3x -5 '
Sitey : 0,0 dopy
i) f(x) = x-1g(x) = 3x +1 ()= 2 it) f((f")f%)"h =4f°(8°(h;- )
xX)=x- g(x)=x
fog(x)=f(g(x)) =£f(3x+1
£~ ) A Qg ho—as
fog(x) = fo(x?)
= 3x 2 4
(f o g) oh = (fog) oh (x) (fog)oh = (fog)oh(x)
B fog(hz(x)) = fog(3x -5)
= fog(x?) = (3x -5)2 - 4
= 3x2 o 2
5 =9x°-30x +25 -4
goh(x) = g(h(x)) = g(x9) =9%2 30x+2] ——— @
=301 oh(x) = go(3x-5)
fo(goh) = fo(goh(x)) & & 5
=(3x-5)
= f(3x2+1)
= 9x2-30x +25
o 21 | o0 -1
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GeomrCGwmeom
fo(goh)x = fo(9x% -30x + 25) Lupd 1.6
= 9x2 -30x + 25 -4
9x2 30x . ® ueveyer Ggfley ellermaser
=9x= -30x + 21—
0 L @ Sz 1. n(A x B) =6 wpmw A = {1, 3} cr
BTl
fog)oh = fo(goh
(fog)oh = fo(goh) o1 o 2
9. £={(-1,3), (0,-1), (2, -9)} speorg Z -eS\miI ®) 3 m) 6 el : @) 3
Z -saner e Cuflw amiy eresflev, f(x) -ms n(A xB)=6
ST6WTS. n(A) =2
Sire : n(AxB) 6
f(x) = ax + b eretre n(B) = n(A) =E=3
sevorsdeorLlp f(-1) = 3
a(-1)+b=3 2 A=labp) BRi%3)
a+b=3— @ = {p, q, 1,'s} eresflev, n[(A U C) x B] syerrg
Gueyd f(0) =-1 &) 8 &)20 &) 12 m) 16
o+b=-1 ew: @) 12
AuC={a, b,p, qr1 5 =>nAUC)=6
b fs?)wﬁuzmu 0 dygus [a = 4] —(2 3] =n (B) =2
s f(x) = -4x -
nf(AUCxB)|=6x2=12
10. @m Weranms Carum geruyg C(t) eern —
@® Gpflu spmy, C(at, +bty) = aC(t,) ={1,2}, B={1,2,3,4}, C= {5 6} ppud
+bC(t,) g WisH CQeiflng. Cueud PG D= {5’ 6’.7' 8} steufled g(‘.fw _
a, b syfluevas wrdledaer erafles, C(t) = 3t Qasr(HsasuuLLeneauseafled erg sflurer Fanm?
sergl @ Crflw &Hml erers sr(hHs. &) (AxC)c (BxD)
Siey &) (Bx D) c (AxC)
sevorédeorue c(t) = 3t 8) (A xB) c (AxD)
c(aty) =3at, — XY ) (D x A) < (Bx A)
(2]
o+ AxC={1,2} % {5, 6}
c(aty) + c(bt,) =3at; + 3bt, _
_ {(1,5) (1, 6) (2,5 (2 6)}
c(at; + bt,) =3 at; + 3bt, -
c(aty) + c(bt) BxD=1{1,2,3,4} x{5,6,7, 8}
et b)) (L5 L6 L)LY EEERT
. (28) (3,5) (3,6) 3,7) (3,8) (4,5) (4, 6) (4,7)
L8l60TEDMIECHTLLM DL LpTHS 6FILIBDGI. 4, 8))
. c(t) = 3t eredTLIg Qb CHIfl &HDMI SHGLD “(AxC) c (BxD)
( @10 - 1 | 22 %
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4. A =11, 2, 3, 4, 5 -mobg, B eem |7. n(A)=m wpmw n(B)=n eaers. A -eSwmHz
semsSinE 1024 2_meyser 2 eters eresfled B-6@ ausmrupissiinc L Cepm) sewmbleeors
B -6o 2.6 . .. . 2_peyseflar Qwrss ewmenilsEans
-0 2_erem 2 ML Sefler erevorewsilsens.
- &) m™ &) n™
&) 3 &) 2 &) 2mn _] ) 200
8) 4 m) 8  eflew :9) 2 eflew : ) 2MN0
2_me|&arfledT GILDNES 6T600T600M86mE
2" = 1004 n(A)=5=p e e Pa = omn
5q
2 =210 nB)=?=q 8. {(a 8), (6, b)} spewrs e sweflssmiy erafle,
5q =10 a wpmid b wHiyserreuet wenpGuw
q=2 &) (8,6) &) (8,9)
. : 8 (6,9 m). (6:6)
R ={(x, x°) | x spemr51 13 - g eSlL_& Gsweurer elew : @) (8, 6)
usn ereorger | etewrp 2 peflew efésawrerg (9. Let A = {1, 2, 3,4} B=14, 8,9, 10} erews.
8l {2,3,5,7} emiy f: A — B sperg
&) {2,3,5,7,11) f =11 47 (2, 8),°6, 9 (¢ 10)} aers
®) 4,9, 25,49, 121) err@sa.,uuu_'rrm f -eTeaTLIZ| .
&) ueeUDBIEdIBHS! 660TMISSTET FITL|
m) {1,4,9,25,49,121} o) FLoevlgeiiLy
eflewL : @) {4, 9, 25, 49, 121} &) QEOTMBEBTEOTDTEDT FITL
13 6l @EmmEUTEDT LISIT 6T600Ta6T M) oL gy
2,3,5,7,11) e : @) paTm&ClsETaTDTeT FTiL|
— 2 1
soey ) x2 10. f(x) = 2x? wpmud g(x) =-— eefled f 0 g
f(2)=2-=4 Sy, 3x
f(3)=32=9 3 5
f(5) =52 =25 &) 5.7 %) 3.7
f(7) =72 =49
=112 = 2 1
f(11) =11-=121 ) o ") o
eligead = {4, 9,25, 49, 121} 2
e : Q) —>
(a + 2, 4) wpmpsd (5, 2a + b) QA aflenss 1 9x
Camgaer Fo1d eTerflev, (a, b) eresrig) fog(x) = f(g(x)) = f(aj
o) (2,-2) &) (5, 1) 1V
8) (2.3) ™) (3,-2) _ 2(3—)
llen : ) (3,-2)
- 1 2
a=5-2 9x? 9x’
=3 .
2aa+ b= 11. f£: % —>]; at:ﬂurgj @Eqpe &ML HmLD
2(3) +b=4 n(B) =7 erafl> n(A) gpers
6+b=4 8l 7 &) 49
b=4-6 8) 1 m) 14
b=-2 e : ) 7
k- 23 | o0 -1
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12. f wpmis g ererm Prevor(H FTiLSEHL Xy
£={(0,1), (2,0), (3, -4), 4,2), (5,7)} 1 1)
§=10,2), (1,0), (2 4), (-4, 2), (7, 0)} gl)=a+p=1—-—0
616018 \BMEBBLILLLTE fog- 6 elFgsLone s g2)=2a+p=3————©
&) {0,2,3,4,5} &){4,1,0,2,7} Xy
®) {1,2,3,4,5) m) {0,1,2} (2, 3)
allen : {0, 1, 2} , @  OmiHal
g ufled 2 emem eT6dEON 2 MILILBEBSESLD f 6D a=2 B=-1
QBITLITL| 2_6iT6rg|.
fog = {0, 1, 2} 15. f(x) = (x + 1)3 - (x -1)3 @AINE sriuTeTs
&) Gurflw &y Sb) 6H HEOTE SML
13. f(x) = /1 + x> ereufled 8) semadLpg &y ) @bLIps &y
&) £(xy) = £(x). £(y) e e B ey
o) f(xy) 2 (2. ) e N
- =x3+3x2+3x+ 1 -3 +3x2 3x +1
®) f(xy) < f(x). £(y) = 6x2 + 2 @b SmLipssY
M) Seupmiled eedTmILElebemed ———
SivGULIDSA - 1
allewL : o) f(xy) > f(x). f(y) . -
1. (¥ =3x,y%+4y) wpms (-2, 5) gpdw aufienss
fx) = Y1+ qeors. Gsmg.ser &1o1b ereufled, X WHMID y -2 5nf21rr5.
Bieg: 1|2
f(y)= J1+v> spey x° -3x = -2 — |
V)= Ny ¥2 Bx+2=0 e
flry) = J(1+x7y?) (x-1) (x-2) =0
f(xy) = £9). £() ¥ =1 ioppyd 3 =2
2.2 \/1 2 \/(1+ 2) ﬁﬂqy}é ++4‘;Y ;? 0 5
1+x =1+ x°. -2 = -
V() ’ (1) (+5) =0 145
YLty = @) (1y7) y -l ubpby = o5 v |y
x 601 &y 1 omd 2
SmdUDLPLD 6uTésLD SMeuor y o1 Ly 1 omid -5
1+ x2y2 - (1+x2) (1"'}72) 2. A x A smefluer Qumsse uevesfler, 9
1+ x%y? =1+ y? + 2%y e piyselies, eqiiysst (-1, 0) ipmibd
oGy 1 + 37yt <1 +2% +y2 +a%y2 0, 1)-ws DwsAns aafed, A-uflé> 2 arer
14. g={(1,1) (2,3) (3, 5) (4, 7)}ereorn smiumesrs) 2 MU SemeTs Srewrs. LOMIWL A X A-er
g(x) = o x + B erews CarEésILLLTO A BF(peTer 2 MILIL|SEN6TS SHTCuTs.
wpmib B -edler wHiLrerg) Siey :
&) (-1, 2) ) (2, -1) A=1{1,0,1)
&) (-1,-2) ) (1,2) AxA=
slllenL : (2,-1) {(-1,-1) (-1, 1) (0, -1) (0, 0) (1, -1) (1, 0) (1, 1}
g(x) =ax+p
oes -1 | 24 =5k
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I
Jx=1 x2>1 )
3. fw)= 4 x<1srso1'a> J1-x2 = (1+x)(1-x)
Qar(Hi&asLILL LT, =x=1(or)x=-1

i) £(0) ii) £(3) iii) f(a+1)
(a 20 eTev18 QBMBESLILIL(B6TTSI) ShBUIEUDEDD

=-1<x<1
~.wduusd f(x) - {-1, 0, 1}

HTE00TS. 6.

Siey :

£(x) = x%, g(x) = 3x wpmyd h(x) = x-2 ererflev,
(fog)oh = fo(goh) eresr HEimiays.

) { [i—1if x=1{1,2,3,4..... } Siey :
X)= f =f =£{(3
4 if x={0,-1,-2..... } °g() — (é%gzc)) )
i f0) =4 = Ox2
N e Y S ([og)oh(x) = fog(hiz)
= fog(x=2)
iii) f(a+1) = \/x 1= \/a+1 1=+a =9 (x-2)2
4, = 19, 10, 11, 12, 13, 14, 15, 16, 17) =9[x% - dx + 4]
sra'sraa. wpms £ A —-N gerg =0x2-36x +36—— @
fn) = n-er gflsusn uarra,mrmﬂ goh(x) = g(h(x)) = g(x-2)
(n € A) eer ausmmumssiuLLTe f - =3(x-2)
a.uﬂma& Gemg.seafler semTSmns s mp@m =3y -6
f - er idensmas srews. fo(goh)(x) = fo(3x - 6)
Sitey = (3x - 6)°
f(n) = SBsuLs LBTESTTEN =9x2 - 36x + 36 2]
f9) = 3 (snpevoiiser 1,3, 9) 0,0 Ornha
£f(10)= 5 (snpevoiiser 1,2, 5) (fog)oh = fo(goh) eretrLiems QUDMEOMLD.
f(11)= 11 (sngewfaer 1, 11) 7. A={1,2)B=1{1,2 3,4} C={5 6} wbmub
f(12)= 3 (snpevoiiser 1,2, 3,4, 6, 12) =1{5,6,7,8) ereflé> A x C gpeurg B x D
f(13) = 13 (snyevoliser 1, 13) 2_L_Sewriom eTeord SHLNTSS.
f(14) = 7 (snpevoiiser 1,2,.7,14) Siey :
f(15) =5 (5ITD‘60’O‘ﬂ&'>GIT1 3 5 15) AxC = {1 2}X {5, 6}
f(16) = 2 (snpevofimer 1, 2, 4, 8, 16) = {(1,5) (1,6) 2, 5) (2, 6)} P
t(17) = 17 (snpevofiser 1, 17) BxD ={1,2,3,4x{5,6,78)
auflens Gegmesefleor sevord {(9, 3) (10, 5)
(11, 11) (12, 3)(13, 13) (14, 7) (15,5) (16,2) | _) (1.5 (1,6)(1,7) (1, 8) (2 5) (2 6)
(17, 7)) =N 2,7)(2,8)(3,5) (3,6) —0
f 6t efigsmid = {(2,3,5, 11,13, 17) 0(3’97) %fgﬁ(; °) (4 6) (4,7) (4,8)
5 . O A xC c B x D erettuems Sinflwieonid
. eTeurm &mirLSlesr
:\/1+\/1—\/1—x2 P e
wHILSESMSE ST6wTs:. 8. f()=""T9,"" 1 erein. x 20 ereflen,
e {(H(0)="—" romss am G
X))=— eteurs sTL(H\s.
f(x):\/1+\/1—\/1—x2 x
- 25 | o0 -1
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Sirey ii) g f(x) g ereflu augaflev TS,
x-1
goey f(x) = — soey : f(x) =6x + 8
i) = £| 21 _r2
() = | 50 =5
= f(x) = g(6x +8)
- x+1 _x=2 8w x =6x + 8
x-1 3
+1
x+1 _6x+8-2
x=1-(x+1) 3
_ x+1 _6x+6 _ 6(x+1)
T ox—T1+x+1 T3 = 3
x+1 =2(x+1)
_ =2 -1 BerpSsiLL g 10. Sereumeucreuniler HILSESMET 6T(HSIS.
_2 X
e - G as BT
9. e&miy f womd g gFwenas f(x) = 6x + 8, 7_9 4yl +1
g(x) = x-2 eTeufle0, iii) (g(*)=vx—-2 iv) h(x)=x+6
1
i) gg (—j -ullerr wSIWLIS HTevETE. s
2 Sirey : Sluy
ii) gf(x) - g ereflw augellev eTpZI5. v T o+ X = 9 erevfled
Siey: i) f(x) = 9 o) = 2(9)+1
suey f(x) =6x +8 w&iusd = R - {9} 0
o2 . EUEDIIMGEL]
g(x) = 3 i) p(x) = _2 - UL6l6D6meD
4x° +1
o[ x-2
g8 () =8 ( 3 J wdlusb = R &m0y
120 o h x = 0 pHmib X< 0

2
x-2 .1
=3 BRE X = >
1,
=_2
3
.5 515
— 2 —_—  —
—= 2 3
3 6

i) 80 = JFo2 g(0)=0-2=/-2¢R

wdiusd = {2, 3,4, 5........... }
iv) h(x)=x+6

wdlusd = R

B 1
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PTA & GMQ &a(hizev aflerr&ser

1. f:X— Y eeip 2-peuneng f(x) = x> -2 e auswrumISSILGEDS. B, X = {-2, -1,0,3} wHmD

Y =R etenré Glamewr_med (i) f~ullesr 2 miliLsener) L qwedlHs. (ii) f - riTur@or?

f(x) = x* - 2 @i x = {-2, -1,0,3}

Sy : f(x) = x2 -2 ®me X = {-2, -1,0,3}

) f(2)=(2P-2=2;£(1) = (-)2-2=-1
fO0) =0y -2=-2;f(3)=(3)*-2=7

o f=1(22),(-1,-1),(0,-2),3,7)}

ii) f- uler @elaan LS 2 NIIIDESLD QG 66 BILD6D 2.1 2 6TeTanSHs STETEDITLD. TaTGa f - SHerg
@b FMITUNGLD.

2. A={12, 3,4} wpm B ={2,5,8,11,14} eresruiesr Qm HewrEIS6T (NS

f:A— B eteb gmiry f (x) = 3x —1 etend Qar(H&suu_(Hetergl. Qéeniilenerd Clsmewnt(H

i) ebysSM uLLD ii) Ol Leuemer

iii) euflewsé @ampserer seworLd iv) euepIULLD SHBIQIDPDS SDHS.

S : A f B
A=1{12,34};B=1{25,811,14}; f(x) = 3x -1 \ . {

f(1)=3(1)-1=3-1=2;f(2)=3(2)-1=6-1=5 =
f3)=38)-1=9-1=8,f(4)=43)-1=12-1=11

i) SubysSGM LuLLd
&y f: A— B e @bus&M ULSSMed SPILEULD (ULLd 1.19) H

=y

o @ P

ii) QL auenewr jemioLiLy

(3,.8)

&y f &2 EBLDE OSTBSSLILILG6ToNS! Sl L eIeDannLined GSIGLITLD.

X 1 2 3 4
f(x) 2 5 8 11

iii) eufleme& Gemgseaflesr sewrid

&y f e2 aurflens @&FMp&elesT SHEOTLDTE 6TLDSEDITLD
£=1(12),25),38),(411))

iv) euemyLLLD
ULLD 1.20-6d 2eaiemr XY- senssed @@ GmIGsM Ied (1.2), (2,5), X! T
(3.8). (4.11) @p&wW YeteliseT GMGSLILIL BeTeTer. vY

xs ESEACE S HACERELD'S IRRRAEH = | ) e} ~

Y

3. f:N—> N eaip griurerg f(x) =3x +2,xc N 6T euenyum|ssLILL L T6d
i) 1,2,3 - uller Blped 2 HEsmeaTs: SHTenTs.
ii) 29 wHmub 53 uiler (et 2_(HESHMETS HTEwTS.
iii) errller aumasamws Srewrs.

k- 27 | o0 -1 )
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Stey :
f:N> N e enunerg f (x) = 3x +2 eter
DTWINISSLILLGETeTg.

i) x=1eefed, f (1) =3(1)+2=5
x =2 eteofied, f (2) = 3(2)+2=8
x = 3 erefled, f (3) = 3(3)+2 =11
1,2,3 - wieor [FlLped 2 (b&&6IT WpedmGIL
5,8,11 &H&Lb.

ii) 29- uleir Weit 245 x erefled, f(x) = 29. eran®@ey
3x+2=29,3x=27=>x=9.
SaslGUTeRaI, 53 @ (LpaT 2.4 X 6Tevfled,
f(x) = 53 eren@eu,
3x+2=053,3x=51=>x=17
eTeor@el, 29 PMID 53 WT WeT 2 db&&6iT
WeDGIW O LbMHMILD 17 Sh&LD.

iii) N - e eaueiGan 2 DIILSap&ESS Slapewt
WHILSHFO 6euaIGam [HLDD 2 BHS6T
2 GIT6ITE0T.
gorGal, [ OEH QENSES QDT
FTUMESLD. f wieor glememor LD ILISLDTENTE N .
eléFsd f=(5,8,11,14,17, ...} Sperg
N - & & 2.1 &a0rbnELb.
eTeT@ay, f Sheorgl BLDEOEMITL & 6DemeD.
olgnag) f 2L &y SpGLbd.

STIRAY , f SN RETNISHS QETDTET LDHDILD
o I FMiTY ShGLD.

4. foperg R -elBBII R -5 60 &rir, Cogyd
318l f (x) = 3x =5 et euemTUMSSLILHIEDSI.
(a,4) womid (1,b) eTerrs Qar(HissILLLTed a
wHmb b- Wier wlliseners srewrs.

Sirey :
f(x)=3x-6_f={x 3x -5) | xeR}
6T60T 6T(LDSHEVILD.

(a,4) etefled, 1 wiedt MIped 2.0 4. SiBTAU,
fla) =4,

30-5=4 ed@hHE 1= 3

(1,b) etefled, 1 wiesr MIped 2 b SiBTaU,

f (x) = 3x +1, g(x) = x + 3 gflwenea Y
gmiryser. Gueyd gff(x) = fgg(x), ereufled x 28
STEWTS.
Sirey :
&)= g [f{f ()]
= g [f(B3x +1)] = g [3(3x +1)+1]
=g (9x+4)
gOx+4)=[(9x+4)+3]=9x+7
f38(x) =flg {g ()]
=Flg(x+3)]=f[ (x+3) +3]
=f(x+6)
f(x+6)=[3(x+6)+1]=3x+19
gff(x) = f3g(x) ere®eu, Ix + 7= 3x + 19. 85

FLDDTLMLOLS SHTeH&H X = 2

R = {(x, -2), (-5,y)} erettug) swefls srirenus
&Ms@0weafled - x wHMIL v pSweudnilest

LIILYSBENTS SHTEwTS.
Sie :
R=H(x, -2), (-5,y)} ereiug| &eof& &mit

Lx=-2

y=->

A=11 2 3 ...... , 100} wHmd R erevim
2me “A- e 155 e eewiewflar sHern”
6T6uT QUEMTMISSLILIL_L_T6D, R-&smesr
wIHULsSHSWYL aIFesS5mSWLD STEwTs.
Siey :
A={1,2,3 ... , 100}

R eretip 2 pey ‘A &1 58I @I eTeTemia SeoorLd’
R=1{1,1), (2,8), (3,27), (4,64)}
S w@lusd = {1,2,3,4}

elFFad = {1,8,27,64}

f o f(k)= 5 wnm f (k) = 2k - 1 eresfled,
k 208 srewits.
Siay :
fo flk) = f(fk)
=2(2k-1)-1=4k-3

fi1) =0 ~fof(k) =4k-3
(3(1)-5)=b6I'GJT(36).I,b=—2 fof(k)=5
6TeT @6 4k -3=5=k=2
(_ oea -1 | 28 =%
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GeomGwmeom EC - 10 scoofigid
9. flx) =2x+3,g(x) =1 - 2x wHmud h(x) = 3x. | 12. Af‘B '=B{(3’2)’ (.3,4)1 (52), (54)} 9'0 A
fO((QOh):(ng)Ohﬂmﬂglmﬁ. ;r!!r)c;m,'lm &5""’“5-
Sirey : AxB ={(3,2), (34), (52), (54)}
0= 29 st s | A S IND e uss swpmeo
@u6Lng. (fog) (x) = flg() = £(1 - 29) B = {Ax Boutdln Bpeion b GyuBOBTm®OY
=2(1-2x) +3 =5 - 4x o_miiyseriedr sevorld | ereor@eu, B = {2,4}
qgi, (fo g) 0 h(x) = (fo g) (1(x) marGend = 135) whoid I = 2.4}
=(fog)(3x) =5-4(8x)=5-12x -------- (1) | 13. fof(k.) = 5,.f(k). = ZIf -1 srssﬂei), .
(501 (9 =3()(w) =g(x) =1-209) =1-6x | g~ o7 LALDLS sreire.
@y, f o (g 0 h)(x) = f(1 - 6x) =2(1 - 6x) fofk)=fif(k)=2@2k=-1)-1=4k-3.
Gl T o —— 2) erenGer, fOflik)=4k-§ o
(1) wopis (-ssises (Fog)oh=fogon) | AT JH0ZIamEAmGEetGseTs:
10. A=(1,3,5), B =2, 3] el A= W) B = be NS,
% R) = x . . womid C =13, 5, 7} ereflev
n(A x B) =n (A) % n (B) erers asr_®Hs. Ax(BUC)'= (AXB)(AXC) ersirions
Sirey : sfluniésa)b.
AXB = [1,3,5) x (2,3 Sivey;
= (12, (13), 3.2), B), 5:2,53)) | HA7 1012
n (AxB) = 6 B=1{2,3,4,5}
n(A) =3 €=137
O AE0 = (0.5 0.9, 0.9,0.5,07)
Ax(Bu = y9), Y, =x),\Y,0),\Y, 7),
-n (AxB) =n(A) xn (B) (1,2), (1,3), (1,4), (1,5), (1,7),
=6 =3x2 (2,2),(2,3),(2,4),2,5), (2, (71)§
=6
11. ugdleo 5rr|;|_|'JU|;®sirsrr atbqé@,g[)] AxB=1{(0, 2), (0, 3), (0, 4), (0, 5),
uLorerg P womid. Q sewrEsEnssTer (1,2)(1,3)(1,4) (1,5)
s, OGRS S s GDEIEHEY
;mﬂ)saﬂw QICELS Axes {5(1): ?) ((10,’ 55))’(5(,)’7?{2(,15,)3,)(2(,1 / f)(2(07)7})
ey
. . . (AXB)U(AXC)
(i) R udeor 6560'0'_[&'>I_L603LDLIL| Pemm ={(0,2), (0,3), (0, 4), (0, 5), (0, 7)
(Ccy)ly=x-2xePbye Q) (1,2) (1,3) (1,4) (1,5) (1, 7)

(11) R udedr LIILlpl.LIGi:) (Lpemm = {(5, 3), (6, 4), (7, 5)} (2, 2) (2, 3), (2’ 4), ’ 5), (2’ 7)}
P Q (2)
de *3 - () whmib () OBHS!

i 4 Ax(BUC) = (AXB)U(AXC)
o 5 %o %o S0 5o oo
%= 29 ', Newd -1 )
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